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PROBLEM:
Let h(t) = 8(t + 10) + 25(t) + 5(t — 10).

(@ Find H(jw).

H(jo) =

(b) Let y(t) = h(t — 10). Find the phase of Y (jw), the Fourier transform of y(t).

LY (jw) =

in1007t  sin50st
© If x(t) = 22 tﬂ _3n :”,mm>«ym.0admwnmdymnmm.
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Let h(t) = 6(t + 10) + 24(t) + (¢ — 10).

(a) Find H(jw).

\ G = @Y 2+ e
ngPl\%
HGw)= 2 + 2cos(i0w)
(puml3 real)

(b) Let y(t) =

h(t — 10). Find the phase of Y (jw), the Fourier transform of y(t)

Y(ijw) = —{Ow>
Yy = €9 HGw)
= e:'jlou ( 2 + 2 cos(:ow))
—~——
phase Magnitude

(c) If (t) = = 1201” - 51?“, plot X (jw). Carefully label your plot.
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